## UNITED STATES DISTRICT COURT

for the

for the
Northern District of California
Therese Pizzo  v. Case No.: 4:09-cv-04493-CW  City and County of San Francisco ) )
BILL OF COSTS
Judgment having been entered in the above entitled action on 12/06/2012 against Plt Therese Pizzo ,
the Clerk is requested to tax the following as costs:
Fees of the Clerk
Fees for service of summons and subpoena
Fees for printed or electronically recorded transcripts necessarily obtained for use in the case
Fees and disbursements for printing
Fees for witnesses (itemize on page two)
Fees for exemplification and the costs of making copies of any materials where the copies are necessarily obtained for use in the case.
Docket fees under 28 U.S.C. 1923
Costs as shown on Mandate of Court of Appeals
Compensation of court-appointed experts
Compensation of interpreters and costs of special interpretation services under 28 U.S.C. 1828
Other costs (please itemize)
TOTAL \$ 2,517.55
SPECIAL NOTE: Attach to your bill an itemization and documentation for requested costs in all categories.
Declaration
I declare under penalty of perjury that the foregoing costs are correct and were necessarily incurred in this action and that the services for which fees have been charged were actually and necessarily performed. A copy of this bill has been served on all parties in the following manner:
Electronic service First class mail, postage prepaid
Other:
s/ Attorney: /s/ George Waters
Name of Attorney: George Waters, Deputy Attorney General
For: Kamala Harris as California Attorney General Date: 12/19/2012  Name of Claiming Party
Taxation of Costs
Costs are taxed in the amount of and included in the judgment.
By:
Clerk of Court Deputy Clerk Date

## Behmke Reporting and Video Services, Inc.

Invoice

"Flawless execution. Down-to-earth professionalism."

160 Spear Street

Suite 300

San Francisco, CA 94105

Phone: (415) 597-5600

Fax: (415) 597-5606

Invoice Date Invoice #
Wednesday, March 14, 2012 36244AC

George Waters
Department of Justice
1300 I Street, Suite 125
PO Box 944255
Sacramento, CA 94244-2550

Phone:

(916) 445-8424

Fax:

(916) 327-2247

riione. (	910) 443-0424 1 az	(. (910) 321-2241	
Witness:	Therese Marie Pizzo		
Case:	Therese Marie Pizzo v.	City and County of San Francisco, et al.	
Venue:	U.S. District Court North	nern District of CA	
Case #:	C09-4493 CW		
Date:	2/13/2012		
Start Time:	10:00 AM	•	
End Time:	3:28 PM		
Reporter:	Christine Jordan		
Claim #:			
File #:	19315cc	1832	28SC
			MICHIGAN MARKETON

Control of the Contro		
Description	Each Quan	Total
Certified Transcript	\$2.75 154	\$423.50
Reporter's Certificate	<b>\$5.00</b>	\$5.00
Exhibits - Electronic & Hard	\$0.70 40	\$28.00
DepoLaunch (Digitized bundle)	\$75.00 1	\$75.00
Delivery & Handling	\$46.50 1	\$46.50
	Sub Total	\$578.00
·	Payments	\$578.00
	Balance Due	\$0.00
	+ .	
	·	
		•
·	·	<u></u>
Thank you for you	r business	

Fed. I.D. # 45-2048307

## Behmke Reporting and Video Services, Inc.

Invoice

"Flawless execution. Down-to-earth professionalism."

160 Spear Street

Suite 300

San Francisco, CA 94105

Phone: (415) 597-5600

Fax: (415) 597-5606

invoice Date Invoice #
Thursday, April 05, 2012 36561AC

George Waters
Department of Justice
1300 I Street, Suite 125
PO Box 944255
Sacramento, CA 94244-2550

Phone:

(916) 445-8424

Fax:

(916) 327-2247

	\	and the second s
Witness:	Captain Douglas Greg	McEachern
Case:	Therese Marie Pizzo v.	City and County of San Francisco, et al.
Venue:	U.S. District Court Nort	hern District of CA
Case #:	C09-4493 CW	
Date:	3/12/2012	
Start Time	: 10:00 AM	
End Time:	5:01 PM	
Reporter:	Christine Jordan	•
Claim #:		
File #:	19516cc2	18500SC
NAMES AND DESCRIPTION OF THE PERSONS ASSESSED.	CONTROL DE	

Description	Each	Quan	Total
Certified Transcript	\$2.75	218	\$599.50
Reporter's Certificate	\$5.00	1	\$5.00
Digitized Exhibits	\$0.50	764	\$382.00
DepoLaunch (Digitized bundle)	\$75.00	1	\$75.00
Delivery & Handling	\$46.50	1	\$46.50
	Sub Total		\$1,108.00
	Payments  Balance Due		\$1,108.00 \$0.00
( .			

Fed. I.D. # 45-2048307

## Behmke Reporting and Video Services, Inc.

Invoice

"Flawless execution. Down-to-earth professionalism."

160 Spear Street

Suite 300

San Francisco, CA 94105

Phone: (415) 597-5600

Fax: (415) 597-5606

Invoice Date Invoice #
Thursday, June 14, 2012 37382AC

George Waters
Department of Justice
1300 I Street, Suite 125
PO Box 944255
Sacramento, CA 94244-2550

Phone:

(916) 445-8424

Fax:

(916) 327-2247

David P. Orsay Witness: Therese Marie Pizzo v. City and County of San Francisco, et al. Case: Venue: U.S. District Court Northern District of CA C09-4493 CW Case #: Date: 6/5/2012 **Start Time:** 9:30 AM **End Time:** 2:40 PM Reporter: Cynthia Dammann Claim #: File #: 20065cc1

A STATE OF STREET WAS				
	Description	Each	Quan	Total
	Certified Transcript	\$2.75	139	\$382.25
	Reporter's Certificate	\$5.00	1	\$5.00
	Exhibits - Electronic & Hard	\$0.70	244	\$170.80
	DVD Disk	\$65.00	1	\$65.00
	Color Exhibits	\$3.00	29	\$87.00
	DepoLaunch (Digitized bundle)	\$75.00	1	\$75.00
	Delivery & Handling	\$46.50	1	\$46.50
		Sub Total		\$831.55
		Payments Balance Due		\$831.55
	•			\$0.00

Fed. I.D. # 45-2048307

Thank you for choosing Behmke Reporting and Video Services, Inc.